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Choose the measurement method. © 130128 | 2018.0721 | N |l o @@ ¥ @® 147054 | 2080721 | Nl o @@ ¥ Connect the meter to the measured circuit. ® 103121 | 20180721 | Nl 2@ ¥ Connect the meter to the measured circuit and choose
# e o Co 7 12 the measurement mode.
o READY! & . i
4 é‘lﬁ RCD IA :«:u, ] L3
Riso Ln-pE= === Q Uison-pe= -V 2 T T
[ T PE res L L
= e-- I=--A L RCDt :
Ris — _ J_ J_ Z = Q k V4 A &
150 MIN E=-- |X E=--fc = = : =500 A @
5,00 MQ " - N
alhee= U =240,0V L:W I | (o) b PE!
u=1v == ‘[& (L4N)(PE) }v Un | 500V }v ¢ s | ] @ f=500 Hz N — o2--00 @ N
4 b b x

« | | | o8 . # | | #
Enter settings

Enter settings Enter settings 5
= measurement method = illuminance limit to evaluate the result = testleads length L - e .
ing volt basis of calculating I, current & ee | &l | o @ ¢
= measuring voltage ) . 3 T
= duration of the measurement Connect measuring probe to the meter. £y 7 = type and rated current of the circuit breaker L} o
. P = 1
= resistance limit to evaluate the result zZ “ue , READY!
) .
@ Run the measurement with START button. [ . ':: @ Run the measurement with START button. t A= - S
1 1 250y ty>300 ms
® 132603 | 280721 | Nl [ roos M Main vu:u a0 | 280721 | Nl o2 g Main U=2390V \ 1an | 10mA Ev [ xian [¥05 Ev
result L H [T . = BED
result B0 He } }
@ PEI 2018-07-21 10:31:46 i
Evalu- . E - * ‘ Y ‘ . §
valu- L
= ation of Zin=2038 le=112,9 -
Riso = 102,2 MQ Riso LN L 1= 50,0 A ation of Enter settings
500 MQ the result the result h .
. — -l [N = residual operating current I,
Uso=53V o[- w[ [+ Additional £= 5004z weizm @Eo-f Additional = forced current
results itional = waveform of the measuring current
| \ \ (N H # O results - type of the RCD
L = measuring voltage U,
=
© 12150 o7 Nl oo @ ¥ Main © esio | soran N il o @@ ¢ Main ! B | @ Run the measurement with START button.
# R result @© 103205 | 20180721 | N eSS ¥
: @ r2me | mvworn | N |l o @ ¥ .
20180721 13:21:39 result IN PROGRESS — L: S @ s al Main
Risot1-12 > 250 MQ  Uisoi-2 598 V @ l‘ @ Evalu- @4— Evalu- eoravioaes :. zg;g:g: L-PE! 2018-07-211217:15 result
RisoL13>250 MQ  Uiso 143 #03V @ R X ation of ® Upy= 2405V
Rsoizi3>250 MO Ugoiz3=53V @ | oM™ ation of E =496 Ix Frasore the result Z.y=2,038 Q u=m20a g -soon ta=10ms Evalu-
Risotin >250MQ  Usouin =53V 1 @ 5ka the result Enun = 30 Ix 1n=50,0 A . 4=0.300ms ation of
Usov N & 5 wires {v un| s0v }v ol ‘ Additional Upy=2404V. L=[sm [v & (m.m[v A x ‘An xmnmv— the result
results =500 Hz N=12m @B (os00n ~ = »
e [ ® & o « H ‘ U Additional
* H L . X% U =] #  — results

AN AN /

\_ AN AN /




Checking sequence of phases

Checking the motor rotation direction Recording the mains parameters
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